
... 

RJJtl : A3 , A4 , A7 

1. ~$t~•~~~fy~~~'ff*4•&~Aff4•,~~ff¾* 
Mff:~;t 0 

2. -~~••~CT)i~*~~-,~~#§k~~~ 0 

3. *~##Jl:.11!.Jfi tt .. ~ 0 

4. •--t£••~c 1t$1& TXJ )1t• 0 

s. ~~~~~~~~~~,~~-i~~,$~•1t~~~~-H~ 
. Jt,-1t,x_ !¥ ~.n-tt 0 

6. $ * ~ m • )f: -1-f-¾ >JtJtt nu 0 

7. ·•~mm••~~~M·,·~-~~--~;$·T~JfiW 
~~~-•~,~•~~~C¼**•~•~)a~•Mtt••* ~-•·½, ~f&.*~4_ g} ft~..- 0 

8. ~~-*~~~$*•~4R•~•,a~MAff•*~•$**' 
~.g~~~-=ftt~ O 



!RJUmJi1l A3 A4 A7 ------------

-~•=*Cf)~~•#8M• • M~AA•~••~M~-~M%~~$•1~$ 
••t-l•~~$-~~¼~~•~•t•~~~A~•-••&*~tttt~ 0 

1. Find the critical number of y = l - 4
2 (tan-1 x)2. Answer: 

7r ----

2. Determine the limits of integration where a:::; b such that 1b (x2 - 16), d~ has minimal 

value. Answer : ---

3. Evaluate 100 

1 ex 2~ dx. Answer : 
-oo +e w ----

4. Find the slope of the surface f(x, y) = (x3 + y3 ) 1!3 at the point (0, 0) in they-direction. 

Answer: ---

5. Find the surface area of the portion of the plane z = 4 - 2x - 2y that lies above the 

circle x 2 + y2 :::; 1 in the first quadrant. Answer : __ _ 

6. Find an equation of the tangent plane to the paraboloid r( u, v) = u i + v j + ( u2 + v2) k 

at the point (1, 2, 5). Answer: ___ _ 

100100 
1 7. Evaluate the integral __ ( 2 2) 2 dxdy. Answer : ___ _ 

o o l+x +y 

8. Use a change of variables to find the volume of the solid region lying below the,surface 

z = ✓(x + 4y)(x - y) and above the plane region R: region bounded by the parallelogram 

with vertices (0, 0), (1, 1), (5, 0) and (4, -1): Answer : __ _ 
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1. A heat-seeking particle is located at the point ( -1, 2) on a metal plate whose temperature 

at (x,y) is T(x,y) = 64 - 2x2 - y2 • (a) (6 ~) In what direction from (-1,2) does the 

temperature increase most rapidly? What is this rate of increase? (b) (6 5t-) Find the path 

of the particle as it continuously moves in the direction of maximum temperature increase. 

2. Determine if the given series converges or diverges. Explain your reasoning. 
oo (3 2)n oo 2/n 

a. (65t-)'°' n+ b. (6~)'°'-e-
~ n+3 ~~ 
n=l n=l 

3. Find the maximum value of la y3 dx+(27x-x3 ) dy, where C is any circle in the xy-plane, 

oriented counterclockwise. · "'-


